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de- 5 (Set- 5)
- 10 [EARSRCEIC) quiieh- 40 AT — 1:30 TeT
(Class-10) (Sub- Science) (F.M-40) (Time- 1:30 hour)

ATy fSEer- (General Instruction)
> qeTTT JATHHT 39T Qeal A 3R G|

(Examinee write answer in their own words as far as practicable.)
> Il YA h AT 19 B
(The total number of questions is 19)

> 9% 1 W 9T 7 Teh ATTTEIT IR § | STt 8 fohegl Ul URaAT & 3eX
TR dH Teh aTeFT H SIfSTT| Tk 9T T AT 2 31 iR g1

(Question 1 to Question 7 are very short answer type questions. Answer
any five of these questions in at most one sentence. Each question
carries 2 marks.)

> 92T 8 ¥ URe 14 oeh T T § | SoTH U Tohegl 5 R & e 3Teehcl#
50 2TeaT A SIToTT | Tcdeh T2+T &l AT 3 3o fTeTRA g1

(Question 8 to Question 14 are short answer type questions. Answer any
five of these questions in at most 50 words. Each question carries 2
marks.)

> TT GEAT 15 @ YT 19 deh SIU3a4rT YT ¢ | 578 & faregl i weaT &
3R 3TRdH 100 ASET H STV | Tedeh 9 T AT 5 37 TUTRA gl

(Question 15 to Question 19 are long answer type questions. Answer
any Three of these questions in at most 100 words. Each question
carries 5 marks.)




Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Section-A
fregl 9T weal & 39X ST (Answer any five questions) 2x5=10
iR T S.|. AFS  faW? FI7T Ig ATl Sl oals W AR FIar 87

Write the S.I unit of resistivity? Whether it depends upon length of a conductor?
o] fegd aRuel & Wd & A AR HA H [&Gegd 3Uol 1 S5 & ar o faf@v)

Write two advantages of connecting electrical devices in parallel with the source in

domestic electrical circuits.

al U8 Y1 T A darst Ol gl W @A 8 g8 Y ST g |

Name two such metals which melt when placed on the palm.

ArAfaf@a # ¥ -l T I Garae 3MATRAT 2 €2 CoHg , CsHs ,CsHs ,CoHa

Which of the following compounds show addition reaction :- C,Hg , CsHg ,C3Hs ,CoH>

IARIhdl & 3T AT FHASIA §7?

What do you understand by inheritance?

NSt Ra & &1y & fAv i Wafas gerd soRer &7

Which chemical substance is responsible for ozone layer depletion
3uifoid wetor R e €72

What is acquired trait?

Section - B

fregl il weat & 39T fSU(Answer any three questions) 5X3=15

UF URTER AR FUSAT & o & g g wenfad g €, o/
(T) Fusel A faegd urr Serr s

(3 FUsel # gaAe faegd ary & feer  Iefe fear s

(c) Fusel & ORI A F&TT # gefd fohar s

How is the magnetic field of a current carrying circular coil is effected by
(a) Increasing the current in the coil
(b)Reversing the direction of current in the coill

(c) Increasing the number of turns in the coil.

Q.9 dleeHe 3R vl & #IE AT HR FdT?

State any three differences between a voltmeter and an ammeter.?



Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

ufffe 3fRfRar Far & 72 gefiewor afga sarear & | s9FT 39AET Fgl KT ST § 2

What is thermite reaction? Explain with equation. Where is it used?

Hifreh T TEE TR JUT & IMUR N Uil Ud TheAlssh el H 31T Hh IR el ?
How will you differentiate between ethanol and ethanoic acid on the basis of physical and
chemical properties?

d @i @ dlieh § Sl garT Ueh faRIV of&for arel eafse Sital &l §&ar A # 96 Sl §7?
What are the different ways in which individuals with a particular trait may increase in a
population.

Ife gAR aRT 3cUIfed ART FHTRT AT fAF=iaoiT g af T ST AR JATIRUT | HIg THT

If all the waste we generate is biodegradable will this have no impact on the environment.

Explain.

foera # day T aXal & SaRHA FT FIT Agcd 87

Explain the importance of fossils in deciding evolutionary relationship.
Section - C

freel i weat & 39T fST(Answer any three questions) 5X3=15

e IR F fasrelr & @ ¥a1 X arel fheer ar Feufaar i carear w7
golfdeeh Al 3R SR & 91T & J7E AR IRofEeH Hi?

Explain any two situations that can cause electrical hazards in domestic circuits?
List in tabular form two major differences between Electric motor and Generator?

fer av 9wy 3mMw A

— VNN M NAAA -

~{ 11~
6V

gfadierer R1, R2, @1 R3 & AW &AW 20, 40,6 Q8 T 3¢ 6 Volt &
S @ @Oe fRar Sar @ ar (1) RYY @ Fel TR (b) URUY H yaried
Fo faegd orT aRefed ST (c) I3+ IRy & gaifed faegd amT aRewfard
fferA?



Q.17

Q.18

Q.19

In the given circuit diagram

— V'V MA NN NNNAAA

— 11~
6V

The values of resistors R1, R2, and R3 are respectively 2 Q, 4 Q and 6 Q. They are

connected to a 6 volt battery, then calculate (a) the total resistance of the circuit (b) the

total current flowing in the circuit (c) current through each resistor.

T AT Herg A Hifaw 0T & YR WA TS A |
Explain the difference between metals and non-metals on the basis of physical properties.

AT U9 FATT 391 Pl 3GIEI0T g HHSISU|

Explain the term analogous and homologous organ with example.

A) FIT YU & AT FIAT FHASTA 872
B) 3T &eRT [l T THEAT 7 Fl H T ANE & Thd 82 el e dliel & gulel
H|

A) What do you mean by waste management?

B) Describe any three ways in which you can contribute to reduce the problem of waste

disposal.



